Calculus BC – Chapter 6 - Even Answers (F.T.D.W.)
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Section 6.7
2. 28,627,763 lb

4. 111.1 lb

6. 114.583 lb

8. 420.139 lb

10. 4.204 lb

12. 3 ft

14. (a) 333.33 lb

(b) 8.987 ft

Section 6.8
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4. 5/3
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12. (0, 10)

14. (0, .567)

16. (a) 
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18. (ln 4, 0)

20. (1/3, 1/3)
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Section 6.9
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4. � EMBED Equation.DSMT4  ���


6. � EMBED Equation.DSMT4  ���


8. � EMBED Equation.DSMT4  ���


10. � EMBED Equation.DSMT4  ���


12. The vertical strips are the same height as the partition mesh goes to zero. Then their areas would approach the same value.


14. (b) � EMBED Equation.DSMT4  ��� m


(c) 0 m


16. (b) 8 m


(c) 0 m


18. (b) 40 m


(c) 0 m


20. (b) 11 m


(c) 9 m


22. 52/3 inches


24. � EMBED Equation.DSMT4  ���





Practice Exercises
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60.Cross-sections 

are of equal area.
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